3 (Sem-1/CBCS) ECO HC 1

2022

ECONOMICS

( Honours )
Paper : ECO-HC-1016
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Full Marks : 80
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The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :

1x10=10
o9 RPTRT ©ed il (R et wabt)
(a) What is the problem of ‘choice’?
R R

(b) Distinguish between a firm and an
industry.

9B OB WiF Bl Sris Siere A Fefa
4t

(c) Mention one feature of capitalism.

“ffear@ @Bt CafkiEy S w4

(d) State one feature of economic goods.

Gdtifor sAminze @bt @RiEy S =t
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(e)

(9)

(h)

(0

G)

(k)

U

(m)

(n)

(0)
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(2 )

What is cross demand?

fofs vifem 5o

Write the demand function.

Sifzat Tt ot |

What are complementary goods?

Ao ARz feo

Draw the demand curve of Giffen goods.

GRS THARRRA B Sy 2o |

What is the shape of : '
perfectl
supply curve? y inelastic

R QI B0 ol e iFhs 59
What is producers’ surplus? \
AT Tge 592

Define opportunity sets.

s 2o @ |

What is income consumption curve?
o Serett @9 R[50

Mention the concept of market demand,

IGH BT 4IRemT6 SEy <54t |

Distinguish between stock and supply.
TGS EiF @G oS s Ffy w1

Define imperfect competition.

w5j¢f eifSwifarere kel

( Continued )

(p) What is derived demand?
Bgo ol 7

(q) State one character of labour market.

A4 IERT 9o @Ry S 4|

() What is meant by property rights?
Foifaq 792 & @H?

2. Answer the following questions in short
(any five) : 2x5=10
w2 vY Be frn (R Gl <Aob)

(a) Distinguish between positive economics
and normative economics.

feave st =i sefs SgAifes IS
“fefe Pt 4t

(b)) What is economic problem?

gdtafes Twp 52

(c) Write any two features of basic
competitive model.

@fe dfewferee @it R @l O
cafigy et

(d) Why is the cross elasticity of demand
for substitute goods always positive and
negative for _complementary goods?

 vifwia fodfe Pfsmieree 0 smim Res siwaR
RIS EINE Wi ARGEE AR cFae
Yl =?
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(e)

(9)

(h)

0
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(4)

If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of ¥60
per litre?

3w <99 SRR 74 Fafeteimst «oa st =1
wi¢ T dfs BHR 1 W 40 B9 @Ere
<ot AR 40 FOR M9 vt 2w, o
ﬁ%ﬁﬁﬁﬂ%ﬁﬁGOW?{meﬁﬁqﬂ
SifEwE A feam 2799

Why do two indifference curves not
intersect each other?

Wﬁﬁtﬂﬁ@ﬁmw@:ﬁw?

Why is the supply curve of labour
upward sloping?

AT Q@ @3 R SR =0

Distinguish between fixed and variable
costs.

P i R T oty ity

Mention two government Policies to
enhance competition in the market

Wﬁ%ﬂ]ﬁ@{f\ﬁﬁﬁaw >
S 49 | I e A

Why do input demand cury ;
the left? 5 GRIE i

Tt sifEl @I R A0S giaRs 9

( Continued )

3. Answer the following questions (any four) :

5x4=20

oo e Oed il (R @it oifset)

(@)

(b)

()

(d)

(e)

A23/447

What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
T TSP 67 w9 Preedr (@M IR
8RS #ol [RBR I, I F40 |

How does the profit motive drive the
market system? Discuss. )

Ared SR (M S RS SiRpike
FE? SEsAl T4 |

Explain the characteristics of a mixed
economy. S

i wiefAifeq @fEpmz T 4|

What is price mechanism? How does
price mechanism allocate resources?

1+4=5
W g 7 W odfmR @rmE TR
e 2

What is budget line? How do changes

in income and prices affect the budget
line? Use diagrams. 1+2+2=5
qAees @@ 752 wE o W9 AR @
et @ eeifvs $E? ba TR S
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(6 )

() Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5
S @ GFOLA FFIN g oA @
oz SIR*e F%e 3 | fFgo

(g) Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5

TG T 1T AT 9 AT Foorh o o |
oifee T4 @R T IW @ Ry wE ot
& IE?

(h) Explain the various factors determining
the demand for labour. 5

wg oifEat fda st [ies seomz g
Eaill

4. Answer the following questions (any four) :

10x4=40

(@) What are the fundamental economic
problems of an economy? How can
various economic problems be explained
through the use of production possibility
curve? 4+6=10

4 ST TP ALAST TP s R0

fafen weftafos TPIPMES Seotrm sl
QI 2SS T R 20

25/ ( Continued )

(b)

(c)

(@

(e)

A23/447

How is efficiency of market linked with
producers’ and consumers’ surplus?
Explain. 10
T T€ WIF (SIS TFed TS JE[T
wEoly ¢ TEw SR? I w9l

Explain the various factors determining
individual and market demand. 10

Jfere ot wiF I@E i iR
g =4

What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
sfoss e 52 R o 1ol rafeq srrrrs
eifost fReiea 4iRaeet ot <5 |

Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach. 10
fers @t RoRas 2Re ©eR I v
SifeIce! it 4 |

Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10

TP TC Y @A TS RAiA Sfe
I @I 2] 91| LA TS W @2
U-Sighon e reermz |
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(8

(9) Explain the behaviour of a profit maxi-
mizing firm in the short-run. 10
ZIA IS G4 S T 2B
o9 =5t 4t |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10

amﬁmwﬁﬂquﬁmw
Al ORI TR FrgTe  m-RaE
SR 5 it =19

() Describe the various applications of
elasticity of demand in economics. 10

() Explain how wages are determined in a
competitive labour market, 10

fdifes =, pt

* ok &
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